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Data Set 1 X y Residual ‘ ‘
1000 804 D54 Scatter Plot Data Set 1
8.00 6.95 -0.55
13.00 7.58 0.08 | 12.00
9.00 8.81 131 10.00 -
11.00 8.33 0.83 8.00
14.00 9.96 246 L 600
6.00 7.24 -0.26 | 4.00
4.00 4.26 -324 500
1200 1084 334 ’ OOO N . . S
7.00 4.82 268 :
5.00 5.68 -1.82 0.00 5.00 10.00 15.00
y bar 7.50 y

|

Residual Plot Data Set 1

4.00
2.00
= 000 - .
2.000-00 500 10.00 15.00
400
X
Data Set 3 X y Residual
10 7.46 -0.04
8 6.77 -0.73
13 12.74 524
9 7.1 -0.39
1 7.81 0.31
14 8.84 134
6 6.08 -1.42
4 5.39 241 o
12 8.15 0.65
7 6.42 -1.08
5 573 -1.77 10.00
y bar 7.50 ,
5.00
e
0.00
0
-5.00 -




. . J Resicua e
.00 14 e
10.0 9.14 1.64 Scatter Plot Data Set

8.00 8.14 0.64
13.00 8.74 1.24 2
9.00 8.77 1.27
11.00 9.26 1.76 10.00 ¢
14.00 8.10 0.60 8.00
6.00 6.13 -1.37 o 6.00
4.00 3.10 -4.40 4.00
12.00 9.13 1.63 2.00 oo
7.00 7.26 -0.24 0.00
5.00 4.74 ~2.76 0.00 500  10.00  15.00
y bar 7.50
X
Residual Plot Data Set 2 Scatter Plot Data Set 4
4.00 15
2.00 :
OOO 10 ;;;;;;;
e : -
-2.000.00 10.00-15.00 5
-4.00 ; S ‘
-6.00 | 0
X
0 5 10 15 20
X
Data Set 4 X y Residual
8 6.58 L0.0Q
8 576 174 Residual Plot Data Set 4
8 7.71 0.21
8 8.84 1.34 6.00
8 8.47 0.97 :
8 704  -046 4.00
8 5.25 -2.25 ; 2.00
19 12.5 500 >
8 556 194 000 -
8 7.91 0.41 2.00 Ol 5 2350220
8 6.89 -0.61 !
y bar 7.50 X

Scatter and residual plot for 1st data set suggest that simple linear regression model is reasonable.
Data set 2 suggests that linear regression seems unreasonable, perhaps quadradic model.
Data set 3 suggests that the relationship is perfectly linear, except for one data set which will
greatly influence the fit of a regression line
Data set 4 suggests that the slope will be defined entirely by the one outlier, linear model
not appropriate,




